REIE(F — &his AR iEEAR
SMEREIRR CHELIC.

O Y BURER ( PiHREEHE )
© DMB2 (YB) %%l

R
ERAR 1 932 ~ 9100 (
/
'
(O]
|_ov
B O il Y D F G KK R T u ' w
YB - M10 x 1.25 | @32 10 30 40 | M10x1.25 10 16 14 20 28
YB-M14x1.5 | @40 10 40 51 M14 x 1.5 1 19 14 22 28
YB-M18x1.5 | @50, @63 14 50 64 | M18x15 14 24 20 28 40
YB-M22x1.5 | @80 22 65 85 | M22x15 20 34 30 40 60
YB -M26 x1.5 | @100 22 65 85 | M26x1.5 20 34 30 40 60
C | BYETH
U R
© DMB2 (I1B) %5l
EAR : 932 ~ 9100 o 7
- . hd
w T 8 o
i
KK (%)Y
B g 4 = D F G KK R T 1] v
IB-M10x1.25 | @32 10 30 40 M10 x 1.25 12 16 14 20
IB-M14x1.5 @40 10 40 50 M14 x 1.5 12.5 19 14 22
IB-M18 x 1.5 @50 , 63 14 50 64 M18 x 1.5 16.5 24 20 28
IB-M22x1.5 @80 22 60 80 M22 x 1.5 235 34 30 40
IB-M26 x 1.5 @100 22 60 80 M26 x 1.5 23.5 34 30 40

C fAlR#EEE
© DMB2 (GB) %5l
EAR : 932 ~ 3100

i il Y B Cc D E F G J KK sSw
GB -M10 x 1.25 | @32 10.5 14 10 26 43 56 21 M10 x 1.25 17
GB -M14x 1.5 240 13.5 19 14 34 57 74 24 M14 x 1.5 21
GB-M18 x 1.5 @250 , @63 17 23 18 42 71 92 36 M18 x 1.5 27
GB - M22 x 1.5 280 20 28 22 50 84 109 43 M22 x 1.5 32
GB - M26 x 1.5 @100 22 31 25 60 94 124 36 M26 x 1.5 42

6-6.15



